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100m 1% 5 64 = 188 1 #v1y 1 | 141 9
100m 14 5 2 28 BN && A ¥ ahy 1 |/BEH 15| 2
100m 14 =2 28 6 |5z AE 134 797 1 | FxE$ 15| 3
100m 14 5 90 7T |ER E& bk TVE 1 |l 15| 4
100m 14 =2 2 21 |BH Rt 7Y% Yagh 1 /B8R 15| 5
100m 14 =2 209 16 & EX ¥y 3y kny 1 | AL 15| 6
100m 1% % 2 23 |k HRIE N ¥y 447 1 |JBE 15| 7
100m 14 B 28 2 |RBEE #%A VA 1 | F=AF 15| 8
100m 14 = 88 4 |E®H BE M/ MY 1 | K& 15| 9
100m 14 = 85 49 |%H #HRE LY & YKL 1 |®EF 16 | 2
100m 14 2 67 46 | REFFGIA 7Y/ k14 1 | 16 | 3
100m 14 S 64 5 AR EE& R%EN VavAf 1 |z 16| 4
100m 1% 5 91 24 |7 J2EE ) 1939 1 |4 16 | 5
100m 14 =2 64 3 |FRES IE 177" M 1 | 16| 6
100m 14 =2 97 11 [Z@E  #kt VZEVZ L 1 |mB=E 16| 7
100m 1% 2 85 39 |8 F 78 F v 1 |18FEF 16| 8
100m 14 2 2 30 |FH FE—BB k74 1) a94F0y 1 |JBE 16| 9
100m 14 =2 72 11 || = A WE b 1 | REH 17 2
100m 14 &2 98 5 |‘F Rt AVIE DA b 1 |#EF 171 3
100m 14 F 93 9 |£H J}EBE M A R 1 |mEFE 17 | 4
100m 14 L= 91 22 |INIE ;&% hIt7 A 1 | 17| 5
100m 1 5 73 27 | kM ;2 y1L7 19b 1 |EEHRA+ 171 6
100m 14 = 64 2 |BA KA RN AAY 1 | 17| 7
100m 14 =2 98 42 |MRE  fERE )27 3% 1 |#EH 17 8
100m 1% 5 227 1 [HE £ A0 % %37 1 |KREEZ 171 9
100m 1 E2 121 24 |BH =R he ol 1 |&m+ 18 [ 1
100m 14 =2 113 42 |8 =N wISAEVYY, 1 |RZ 18| 2
100m 15 5 216 19 @ @t 554 a9k 1 | KRfEH 18| 3
100m 14 =2 73 25 |EA SR VEIE U YR 1 |EE&e 18| 4
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100m 14 L= 100 37 it EBE gy a9y 1 |REXS 18| 8
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1500m 15 =2 24 - 31 (&Nl E—EP W7 yvAFaY 1 |#F=EF 2 | 16
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1500m 1% B2 30 - 1 |l #wRE Yo7 % 1 | K& 3 14
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1500m 15 5 118 - 37 |# 1Ei Ny Vit 1 |R)= 3 19
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3000m 235 E2 100 - 11 [EEE #&%F ) TN A 3 |[AEXT 1 1
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3000m 234 B2 12 - 10 |/ Bt N Yy avk 3 |E=ES 1 4
3000m 234 5 204 - 16 |luE  FEKER Ye4 14n9 2 |BlE= 1 5
3000m 234 5 91 - 48 |H)Il =0 V7 LA 3 |#= 1 6
3000m 234 B2 88 - 31 |A)Il BE ~YhT vk 3 | K& 1 7
3000m 234 5 100 - 10 [/KZE B&E—ER A YT vav{Fay 3 [AEXF 1 8
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3000m 234 B2 91 - 45 |H)Il = V7 74 3 | 1 12
3000m 234 B2 72 - 5 |HE EA 1791 +4b 2 [FEH 1113
3000m 234 5 206 - 8 |luN WwEE Yeos Jov 3 |RMEZAF 1 14
3000m 234 5 214 - 50 |/ % ATy 2 |=HE 1 15
3000m 234 B2 91 - 41 |EH &2 918 Yantd 3 & 1 16
3000m 234 5 10 - 12 |HRE B— Tht A94F 3 | ExR 1 17
3000m 234 5 204 - 15 |HhE X FhY ¥ 3 2 |BlE= 1 18
3000m 234 B2 118 - 6 |FE & ANDE Vi 2 |R)I 1 19
3000m 234 5 42 - 24 |EH K& 9IZ 442y 3 |E®E 1 20
3000m 234 B 113 - 36 [&HE =L INZEESE 2 | KRE 1 21
3000m 234 B2 204 - 8 Iy 7oA77 |1h X7 9T 3 |[BluE= 1 22
3000m 234 ES 24 - 14 |8 =88 Yay 29 3 |HFmH 1 23
3000m 234 B2 204 - 18 |BK Xktt THY X AY 2 |BluE= 1 24
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3000m 234 5 23 - 6 |FEM B Y %Y a 3 |RERE 2 1
3000m 234 5 44 - 25 [/ BRK vy I4% 2 A 2 2
3000m 234 e 216 - 34 |ME f&—8A XU /AT 3 [KEH 2 3
3000m 23%F £ 100 - 16 [HLE =& 4791 )7 N 3 |AEKAF 2 4
3000m 235 5 100 - 18 [z4H EmA A b 2 |BEXH 2 5
3000m 234 e 23 - 13 |f1AR BRIE ArEb THVY 3 |=EEE 2 6
3000m 23%F e 100 - 8 (L) EBH 9IhT A7k 3 |AEXAF 2 7
3000m 235 5 216 - 29 |FE& KA t7Eh 294 3 |[KEF 2 8
3000m 234 % 44 - 15 [K/ A 18 /L7 b 3 &AL 2 9
3000m 234 % 206 - 15 |SH| =E 7 eIy 2 |REB=F 2 | 10
3000m 23%F 5 23 - 11 |f0E f¥8A T8 IHTE 3 |REEE 2 | 11
3000m 235 3 10 - 16 |EH E—HB 914 194707 3 | kX 2 | 12
3000m 234 5 100 - 12 (&% BR 7 ¥ 3 |AEKAF 2 | 13
3000m 234 5 209 - 24 |3k FKEB 9 19409 3 (AL 2 | 14
3000m 234 e 23 - 20 [(HE HEA 7 F1% 2 |EAEE 2 |15
3000m 234 % 44 - 24 [[RE HE—BF NI A94F0Y 2 [BILF 2 | 16
3000m 235 5 67 - 25 |HA =BA r9F IRy 2 |& 2 | 17
3000m 234 % 91 - 3 |RE &R A9h % %7 2 |= 2 | 18
3000m 234 5 113 - 7 [ER K% fy4 MF 3 KR 2 |19
3000m 234 5 91 - 49 |'Im #H# ¥ 1b 3 (= 2 | 20
3000m 234 e 113 - 18 [&=FE & kh vn7 Yy 3 [AF 2 | 21
3000m 234 % 100 - 20 (B¥O 5A )7 F bk 2 |AEXF 2 | 22
3000m 234 5 13 - 1 |WH &% 9% THtO 3 |=% 2 | 23
3000m 234 3 73 - 12 |EA E5R 174h7 19% 2 |BEHRAF 2 | 24
3000m kS % 304 Al 15 A7 493 3 | RREHRFER 2 | 25
3000m 23%F 5 216 - 2 & EE h7¥v 4+ 2 |KEF 3 1
3000m 23%F % 72 - 15 (Il EHF Thn T $by 3 [REH 3 2
3000m 234 % 12 - 11 | =4 hv4z 9% 3 |EEAF 3 3
3000m 23%F 5 67 - 24 |5 BRAX YYSE Lz 2 | 3 4
3000m 234 % 44 - 6 [EZH HEA yEa SUES) 3 [BItH 3 5
3000m 234 5 100 - 21 [f0H SR—BF 7% y9AFAY 2 |AEXF 3 6
3000m 23%F 5 226 - 30 |[XE % 7 7Y M 2 (B 3 7
3000m 234 % 213 - 30 |BR B} Thng vk 3 |[AEIhEH 3 8
3000m 234 % 44 - 5 [ER EIE 91N kAvY 3 [BILF 3 9
3000m 235 5 216 - 25 |FHE #F 7 AV 3 |KEF 3110
3000m 234 % 227 - 11 |9H# ‘A T4 2k 3 |REEZ 3111
3000m 234 % 91 - b5 |k HA4ME IV kL % 2 [ 3|12
3000m 23%F 5 226 - 32 ||l AKX ERLESZEDE. 2 |BLE= 3 |13
3000m 234 % 44 - 8 [FN KiE VL7 4 4% 3 &It 3|14
3000m 234 % 12 - 14 R & A7ER 19 2 |EEAF 3|15
3000m 23%F 5 227 - 12 |XH BB g 2n4 3 |IREEZ 3 |16
3000m 234 % 91 - 7 |BN KEX L7 U7% 2 (= 3| 17
3000m 234 % 118 - 11 [l RERKER Yy ¥ amany 3 |R/IAF 3 |18
3000m 235 5 206 - 8 LA WEE Yv9F )9 3 |REE=H 3 (19
3000m 234 £ 220 - 11 A 12X 897" F 194 2 |FF 3|20
3000m 234 % 98 - 13 [iEAR = II% 744 2 |[MEAF 3121
3000m 23%F 5 67 - 23 | KRR #HRE X0 Ty 2 |t 3| 22
3000m 234 e 20 - 31 |BAE EA =7 ) nivh 2 |FEBEH 3|23
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100mH(83.8cm_8.5m) 14 *= 30 - 16 |iB/K RE VIR TR 1 [Kix 1] 4
110mU18H(91.4cm_9.14m)| 14 =) 113 - 17 |&f0EH Ex 178 #1224 2 |K=E 1 5
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40 28 |2k RE YAME  a9% 1 |&%F4+ 1| 4

40 12 |&FM X#H vth nvb 2 |&EFH 1 4

40 3 I'tH B% 155 TEh 2 |=EH 1 4

40 24 |8 BB N 9% 1 |=%+ 1 4

BEFFE4x100m BFF| B (AHWL 209 11 | KH —%F A5 Ay~ 4 1 (AfhbLe 1|5
209 13 |l IRE MACMEVAL 1 | AL 1 5

209 15 | AR+ FEEE L7 Ya9t4 1 | AL 1 5

209 1 |R& 35 LT yavk 2 |AEIL 1|5

209 4 |FHFHE E= T4 nVah 2 |(AfLA 1 5

209 3 |LHE E# Yea ¥ 2 |(AfELA 1 5

4%x100m EFEFE| B |KZE 113 31 [&H  1%Bh 197" F 1924 1 | 1] 6
113 45 (A yE st vER ME 1 |RZE 1 6

113 33 | Kl FkEE A TR 1 |[K=Z 1] 6

113 11 | &8 XH# Y25 2h 2 |KE 1 6

113 19 [k 4D an ¥y 3oy 2 | KRE 1 6

113 12 Ml oK EVACRUELE 2 |KE 116

BEFFE4x100m EFEFE | B [l 90 31 (H FEH arh Yayb 2 |l 1|7
90 33 |HA  KE T F My 2 |l 1 7

90 34 |3t BN X ISUYY) 2 |l 1 7
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2 - 16 |;xH Tk T & Fr 2 |BEH 2 5
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205 - 11 |R®III BE nep 7 193 2 | REEZAF 1|5
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